Plan for the Week of 10.21.24_____SAT/ACT MATH PREP ____ 3A___DURHAM


	Objectives:  
· Solve geometry questions.
· Solve trigonometry questions.
MONDAY (10.21.24)

	Discuss the 15 SAT practice questions assigned on Friday, 10.18, in Google Classroom.

Class Work/Homework:
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[image: Circle Equation_SAT Geometry]
WEDNESDAY (10.23.24)
Discuss the previously assigned SAT questions.
Discussion of right triangle trigonometry.
[image: right triangle trigonometry]
Class Work/Homework:
1) Find the missing sides and angles.
[image: right triangle]

2) Find the missing sides and angles.
[image: right triangle]

3) Find the missing sides and angles.
[image: right triangle]

4) Express cos 32∘ in terms of sine.
5) Express sin 48∘ in terms of cosine.

(6) The base of a ladder is placed 3 feet away from a 10 -foot-high wall, so that the top of the ladder meets the top of the wall. What is the measure of the angle formed by the ladder and the ground?
[image: A diagram of a rectangular object
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(x-6 + (r+5)* =16

In the xy-plane, the graph of the equation above is &
circle. Point P is on the ircle and has coordinates
(10,-5). 1 P is a diameter of the circle, what are
the coordinates of point Q 7
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In the igure above, lines ¢ and m are parallel and
lines 5 and ¢ are parallel. Ifthe measure of £1 is
35°, what s the measure of £2 7
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A dairy farmer usesa torage silo that i i the shape
of the right circular cylinder above. 1fthe volume of
the silois 72 cubic yards, what is the diameter of
the base of the cylinder, in yards?




